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5cm 50cm 100cm
DOv T WO LT — 0.06 — PA-1000
3/4(K)ENL QLG HID — 0.08 — PA-1000
@H A DR — 0.08 — PA-1000
DOv T WO LT — 0.06 — PA-1000
9/7(RA)EY QIEHZH I — 0.06 — PA-1000
QA Ol — 0.07 — PA-1000
TRE3EE
B H X2 I AR (RATAY—ANEER) | e e
5cm 50cm 100cm
OPZPL NIV — 0.07 — PA-1000
3/40K)EY QILB I — 0.06 — PA-1000
@A DOR] — 0.08 — PA-1000
DY TV LT — 0.08 — PA-1000
9/5(KR)EY QIRHEH I — 0.06 — PA-1000
@HADORT — 0.08 — PA-1000
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5cm 50cm 100cm
DOv T WO LT — 0.08 — PA-1000
3/6(&)EN QIEHZH L — 0.07 — PA-1000
Q@HADOR] — 0.08 — PA-1000
DOv T WO LT — 0.06 — PA-1000
9/11 (J) BEEN QIEHZH L — 0.06 — PA-1000
@HAOR] — 0.09 — PA-1000
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5cm 50c¢cm 100¢cm
DCHU TV LT — 0.08 — PA-1000
/1K) Eh QILHZH L — 0.07 — PA-1000
@HADORT — 0.08 — PA-1000
DPr T WS LT — 0.08 — PA-1000
9/71(K)EY QIEHZH L — 0.07 — PA-1000
@A DOR] — 0.10 — PA-1000
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5cm 50cm 100cm
DOv T WO LT — 0.09 — PA-1000
3/6(R)EY QLG H I — 0.08 — PA-1000
Q@HADOR] — 0.09 — PA-1000
DOv T WO LT — 0.09 — PA-1000
9/5(R)EN QLB — 0.08 — PA-1000
@HAOR] — 0.11 — PA-1000
TRR21EE
B H X2 I AR (RATAY—ANEEER) | e e
5cm 50cm 100cm
OPZ LIV — 0.10 — PA-1000
3/90K)EY @)% 1==1¥ — 0.13 — PA-1000
@A DOR] — 0.09 — PA-1000
DCH VTV LT — 0.10 — PA-1000
9/14(R)EN QIRHEH I — 0.08 — PA-1000
@HADORT — 0.11 — PA-1000
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5cm 50cm 100cm
DOv T WO LT — 0.10 — PA-1000
3/6(&)EN QIEHZH L — 0.10 — PA-1000
Q@HADOR] — 0.18 — PA-1000
DOv T WO LT — 0.11 — PA-1000
12/8(A) BN QIEHZH L — 0.10 — PA-1000
@HAOR] — 0.13 — PA-1000
OPZ LIV — 0.12 — PA-1000
9/8(A)EY QIEHZH I — 0.12 — PA-1000
QH A DO — 0.13 — PA-1000
DCHU TV LT — 0.13 — PA-1000
6.76(&)EY QILHZH L — 0.10 — PA-1000
QHADOHT — 0.15 — PA-1000
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. DTS LT — 0.12 — PA-1000
TaL26% QLG — 0.15 — PA-1000
2/721(&)BL
QH A O] — 0.17 — PA-1000
DOv T WO LT — 0.14 — PA-1000
12/79(R)EY QILHHID — 0.15 — PA-1000
@A DOR — 0.18 — PA-1000
OPZ LIV — 0.13 — PA-1000
10711 (&)L QLG I — 0.12 — PA-1000
@A DR — 0.14 — PA-1000
OPZPL NIV — 0.15 — PA-1000
QLG I — 0.14 — PA-1000
8. 16(8) BN @Hj)kl:lﬁr{ — 0.22 — PA-1000 \ _
AXZIELTTF — 0.14 — PA-1000 BkF AT (REFETFIH D AT GEIE L B S5 BF)
Bttt E T — 0.12 — PA-1000 ”
O#FET — 0.18 — PA-1000 ”
OPZ LIV — 0.15 — PA-1000
610(A)2Y QIREH I — 0.16 — PA-1000
@A DOR] — 0.18 — PA-1000
DCH T VO LT — 0.12 — PA-1000
4.22(RA)EL QILEH I — 0.13 — PA-1000
QH A DO — 0.16 — PA-1000
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5cm 50cm 100cm
31200 ENR EhhiER (L) — 0.14 — PA-1000
2/14(K)EN EhhiER (L) — 0.12 — PA-1000
1/251’?22%%” St ER (1) — 0.15 — PA-1000
12/13(K)EN EhhiER (1) — 0.14 — PA-1000
11./15(K)Ehn EhdER () — 0.14 — PA-1000
10711 (K) BN EhdhiER () — 0.14 — PA-1000
9./12(K)EN EhdER () — 0.14 — PA-1000
8./10(&)EN EhdhER () — 0.15 — PA-1000
1/12(K)/ EhdER () — 0.16 — PA-1000
6./15(&)EN EhdhER () — 0.14 — PA-1000
5/17(K)EN i dhiER () — 0.16 — PA-1000
4/19(K)2Y EhdhiER () — 0.19 — PA-1000
3/15(K) BN i dhiER () — 0. 20 — PA-1000
2/13(R) £ B ER (L) — 0. 20 0.18 PA-1000
T 244 R
ATk BEh b E (L) — 0. 23 0. 21 PA-1000
i dhiER () — 0. 21 0.19 PA-1000
12719(A) Bh R (L) — 0. 25 — PA-1000
AQ(L) — 0. 29 — PA-1000
11716 (k) BENL EhhiER (L) — 0. 23 0. 22 PA-1000
10 /foﬁff){%;u b E (L) — 0. 23 — PA-1000
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